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THE CIRCLE

1. Find the equation of the circle whose centre is at the point (4, 5)
and which passes through the «centre of the circle

x4y — 6z + 4y — 12 = 0.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_uVplgDnhBT3e

2. Find the equation of the circle passing through (1, 0)and(0, 1)

and having the smallest possible radius.

o Watch Video Solution

3.1f ( — 3, 2) lie on the circle z? + y% + 29z + 2fy + ¢ = 0 which is
concentric with the circle z2 + y* + 6z + 8fy — 5 = 0, then ¢ =

(a)11 (b) — 11 ()24 (d)32

o Watch Video Solution

4. Find the equation of the circle drawn on the intercept made by the

line 2z + 3y = 6 between the coordinate axes as diameter.

o Watch Video Solution



https://dl.doubtnut.com/l/_UpczjOi13AZi
https://dl.doubtnut.com/l/_682MPVZzQLc0
https://dl.doubtnut.com/l/_eFrQq2rJCECB

5. The straight line z + % = 1 cuts the coordinate axes at A and B
a

. Find the equation of the circle passing through O(0, 0), AandB-.

o Watch Video Solution

6. Find the equation of the circle that passes through the points

(1,0), ( — 1,0)and(0, 1)

o Watch Video Solution

7.The circle 2 + y* + 2gz + 2fy + ¢ = 0 does not intersect x-axis ,

if (@) g2 < ¢ (b)g? > c(c) g* < 2¢(d) none of these

o Watch Video Solution



https://dl.doubtnut.com/l/_QNgksc52xa02
https://dl.doubtnut.com/l/_Oz4OKvFHZnwb
https://dl.doubtnut.com/l/_2I0SH70HN9wn

8.If the lines 3z — 4y +4 = 0 and 6z — 8y — 7 = 0 are tangents to

a circle, then find the radius of the circle.

o Watch Video Solution

9, Show that the point (z,y) given by

2at 1—t2Y\ :
x = andy = lies on a circle for all real values of ¢
1+ ¢2 1+ ¢2

such that —1 < ¢t < 1, where a is any given real number.

o Watch Video Solution

10. If the line Iz + my — 1 = 0 touches the circle z? + y? = a? ,

then prove that (I, m) lies on a circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_cnaweuQ1vpEF
https://dl.doubtnut.com/l/_g6wKPoIK804u
https://dl.doubtnut.com/l/_xCG3SWkVOEez

1. Find the radius of the circle
(zcosa + ysina — a)® + (zsina — ycosa — b)? = k2, if «
varies, the locus of its centre is again a circle. Also, find its centre and

radius.

o Watch Video Solution

12. Find the equation to the circle which passes through the origin
and cut off equal chords of length 'a’ from the straight lines

y==zxandy = —x.

o Watch Video Solution

13. On the joining (1,0)and(3,0) be and equilateral triangle is
drawn, having its vertex in the first quadrant. Find the equation to

the circles described on its sides as diameter.

.Y


https://dl.doubtnut.com/l/_UXQJQOIMqkkt
https://dl.doubtnut.com/l/_wXdY0qh3l4JV
https://dl.doubtnut.com/l/_hLOIYujz3LF3

| ' Vvatcn video solution J

14. If the point (k+1k) lies inside the region bound by the curve

T = 4/25— y* and the y-axis, then the integral value of k is/are

o Watch Video Solution

15. If the point (2,k) lies outside the circles
2 + 9y +x — 2y — 14 = Oandz® + y®> = 13 thenk lies in the
interval (@)(—3, —2)U(3,4) (b) (—3,4) (c)

(—o00, —3)U(4,00)(d)(—o00—2)U(3,00)

o Watch Video Solution

16. A circle has radius 3units and its centre lies on the line

y = — 1. Find the equation of the circle, if it passes through

(7,3)



https://dl.doubtnut.com/l/_hLOIYujz3LF3
https://dl.doubtnut.com/l/_qYAxAH92G6C5
https://dl.doubtnut.com/l/_18H5eEID9Cts
https://dl.doubtnut.com/l/_mmaCOAwZYWfK

| o Watch Video Solution

17. Find the equation of the circle which touches both the axes and

the line 3z — 4y + 8 = 0 and lies in the third quadrant.

o Watch Video Solution

18. A circle of radius 2 lies in the first quadrant and touches both the
axes. Find the equation of the circle with centre at (6,5) and

touching the above circle externally.

o Watch Video Solution

19. Find the equation of a circle of radius 5 which lies within the circle
z? + y? + 14z + 10y — 26 = 0 and which touches the given circle

at the point ( — 1, 3).

s ]


https://dl.doubtnut.com/l/_mmaCOAwZYWfK
https://dl.doubtnut.com/l/_A4Wyap7KhqPk
https://dl.doubtnut.com/l/_LiFAUZ0HMje6
https://dl.doubtnut.com/l/_xPfrQJLMabmp

[ W Watch Video Solution ]

20. Find the equation of the circle whose radius is 5 and which

touches the circle 22 +y*> — 2z — 4y —20=0 externally at the

point (5, 5).

o Watch Video Solution

21. The circle (z — a)’ 4+ (y — a)® = a? is rolled on the y — a&s in
the positive direction through one complete revolution. Find the

equation of the circle in its new-position.

o Watch Video Solution

22. Find the equation of the image of the circle

z? + y* + 8z — 16y + 64 = 0in the line mirror z = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_xPfrQJLMabmp
https://dl.doubtnut.com/l/_1FNZT8bvosOO
https://dl.doubtnut.com/l/_8LSZDCxeiVir
https://dl.doubtnut.com/l/_OBjQGIAcnAVD

23. A circle of radius bunits touches the coordinate axes in the first
quadrant. If the circle makes one complete roll on x-axis along the

positive direction of x-axis , find its equation in new position.

o Watch Video Solution

24. Find the equation of a circle which passes through the point
(2,0) and whose centre is the limit of the point of intersection of

the lines 3z + 5y = 1 and (2 + ¢)z + 5c’y = 1as ctends to 1.

o Watch Video Solution

25.Find the equation of a circle which touches y — axis at a distance
of 4units from the origin and cuts an intercept of 6units along the

positive direction of x — axis.



https://dl.doubtnut.com/l/_OBjQGIAcnAVD
https://dl.doubtnut.com/l/_Gd4GVlLAhb96
https://dl.doubtnut.com/l/_KazNxlguQUko
https://dl.doubtnut.com/l/_ge5QU1hOJE34

I & Watch Video Solution I

26. If the circle 2® +y?>+ 2az +8y+ 16 =0 touch x-axis |,

then, thevalueof’a’is(a)+16(b)+4(c)+-8(d)+1

° Watch Video Solution

27. If the abscissae and the ordinates of two point AandB be the
roots of ax® + bx + ¢ = Oanda’y® + b’y =c' =0 respectively,
show that the equation of the circle described on AB as diameter is

aa' (z* +y®) + a’bz + ab'y + (ca’ + ca) = 0.

o Watch Video Solution

28. Find the equation of the circle which passes through the points

(2, — 2),and (3,4) and whose centre lies on the linex + y = 2.

| o Watch Video Solution


https://dl.doubtnut.com/l/_ge5QU1hOJE34
https://dl.doubtnut.com/l/_AQ9glNRkQEUx
https://dl.doubtnut.com/l/_vDoaoHS2jiHJ
https://dl.doubtnut.com/l/_WSKr9Ollbdmw

29.1f 222 + Azy " 2y® + (A — 4)z + 6y — 5 = 0, is the equation of

a circle, then its radius is :

o Watch Video Solution

30. If the equation of a circle is
Az? + (2A — 3)y®> —4xz + 6y — 1 =0, then the coordinates of

centre are

o Watch Video Solution

31. If the line lz + my + n = 0 touches the circle 2% + y* = a? ,

then prove that (l2 + m2)<12 = n?

o Watch Video Solution



https://dl.doubtnut.com/l/_WSKr9Ollbdmw
https://dl.doubtnut.com/l/_j2SDTrGd7t0j
https://dl.doubtnut.com/l/_TFxsrgCB3HII
https://dl.doubtnut.com/l/_sNE3EoRE1HFU
https://dl.doubtnut.com/l/_nSuyOAw1GpJJ

32. Find the equation of the circle which passes through the origin
and cut off equal chords of +/2 units from the lines

y = xzandy = — x-

o Watch Video Solution

33. Prove that the locus of a point which moves such that the sum of
the square of its distances from the vertices of a triangle is constant

is a circle having centre at the centroid of the triangle.

o Watch Video Solution

34, DO

Watch Video Solution


https://dl.doubtnut.com/l/_nSuyOAw1GpJJ
https://dl.doubtnut.com/l/_6yUERCqVDJVw
https://dl.doubtnut.com/l/_lvlCC5L3WzhK

35. Adip circle is at right angles to the magnetic meridian. What will be

the apparent dip ?

o Watch Video Solution

36. Find the equation to the circle which passes through the points

(1, 2)(2, 2) and whose radius is 1.

° Watch Video Solution

37.Find the equation of the circle, the coordinates of the end points of

whose diameter are ( — 1, 2)and(4, — 3).

° Watch Video Solution



https://dl.doubtnut.com/l/_VmmRcR4g5d2j
https://dl.doubtnut.com/l/_Z5hT34XbjOVK
https://dl.doubtnut.com/l/_eU1YlJWIU5Ah

38. If the circles 2%+ y? +2az + c = Oandz? + 4> +2by +¢c =0

touch h other, th ()1 1—1(b)1+1—1()
ouc eac otner, en (a b2 = - a,2 b2 = 02 C
1 1 2
a+b=2(d)— +— ==
a b C

o Watch Video Solution

39. Find the equation of the circle which passes through the points

(1, — 2), (4, — 3) and whose center lies on the line 3z + 4y = 7.

o Watch Video Solution

40. The equation of the circle which touches the axes of coordinates
Y
4
is 2% + y2 — 2cx — 2cy + = 0, where cis equalto4 (b)2(c)3(d)6

and the line % + — + = 1 and whose centres lie in the first quadrant

o Watch Video Solution



https://dl.doubtnut.com/l/_6muDhGoM3e5T
https://dl.doubtnut.com/l/_lFfJHKqF524S
https://dl.doubtnut.com/l/_H5Sdau9zDYRC
https://dl.doubtnut.com/l/_sMwXJQp93ftj

41. Find the equation of the circle which passes through the points

(2, 3)(4, 2) and the centre lies on the straight liney — 4= + 3 = 0.

o Watch Video Solution

42. The number of integral values of A for which the equation
22+ 1y* + Xz + (1 — Ny +5 =0 is the equation fo a circle whose

radius cannot exceed 5, is (a) 14 (b) 18 (c) 16 (d) none of these

o Watch Video Solution

43. Find the equation of the circle which touches the lines
4 — 3y + 10 = Oand4z — 3y — 30 = 0 and whose centre lies on the

line 2z +y = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_sMwXJQp93ftj
https://dl.doubtnut.com/l/_NHYLGQs99ZKy
https://dl.doubtnut.com/l/_n1xLP6rCwur6

44.f the line y = \/3z + k touches the circle 22 4 y* = 16, then find

the value of k.

o Watch Video Solution

45. Find the equation of the circle having (1, — 2) as its centre and
passing through the intersection of the lines

3x +y =14 and 2z + 5y = 18.

o Watch Video Solution

46. Find the locus of the centre of the circle touching the line

x + 2y = Oandx = 2y

o Watch Video Solution



https://dl.doubtnut.com/l/_z61ZkQQjjoDo
https://dl.doubtnut.com/l/_e3RhfGtc1uiN
https://dl.doubtnut.com/l/_FWotsITUu9Wa

47. Let C be any circle with centre (0, \/ﬁ) Prove that at most two
rational points can be there on C. (A rational point is a point both of

whose coordinates are rational numbers)

o Watch Video Solution

48. Find the equation of the circle which touches x-axis and whose

centre is (1,2).

o Watch Video Solution

49. Find the equation of the circle which passes through the origin and
cuts off intercepts 3and4 from the positive parts of the axes

respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_b5YOgwcgFAbI
https://dl.doubtnut.com/l/_btHVMGNMLRtX
https://dl.doubtnut.com/l/_d6JpsdRtzieL
https://dl.doubtnut.com/l/_TiQiIrkHdkzT

50. Find the equation of the circle whose centre is at (3, — 1) and

which cuts off a chord of length 6units on the line 2z — 5y + 18 = 0.

o Watch Video Solution

51. A rectangle ABCD is inscribed in a circle with a diameter lying
along the line 3y=2+4+10. If A and B are the points
(—6,7)and(4,7) respectively, find the area of the rectangle and

equation of the circle.

o Watch Video Solution

52. Find the equation of a circle with origin as centre and which

circumscribes an equilateral triangle whose median is of length 3a

o Watch Video Solution



https://dl.doubtnut.com/l/_TiQiIrkHdkzT
https://dl.doubtnut.com/l/_8zddTIHniYC9
https://dl.doubtnut.com/l/_Wsl9Inum7u2Y

53. Find the equation of a circle whose diameters are

2z — 3y + 12andx + 4y — 5 = 0 and area is 154squareunits-

o Watch Video Solution

54. Find the equation of a circle of radius 5 whose centre lies on x-axis

and passes through the point (2,3).

° Watch Video Solution

55. If y = 2z is a chord of the circle 2% 4+ y?> — 10z = 0 , find the

equation of a circle with this chord as diameter.

° Watch Video Solution

56. Find the equation of the circle is (2, — 3) and radius is 8.



https://dl.doubtnut.com/l/_fMdGh3V8zL4r
https://dl.doubtnut.com/l/_5RyfOiTjeouG
https://dl.doubtnut.com/l/_t0iT4xtLXLKL
https://dl.doubtnut.com/l/_ISXFYXrnwML5

| o Watch Video Solution

57. Find the equation of the circle which passes through the point of
intersection of the lines 3z — 2y — 1 = Oand4z + y — 27 = 0 and

whose centre (2, — 3).

o Watch Video Solution

58. Find the equation of the circle having centre at (3, —4) and

touching the line 5z 4 12y — 12 = 0.

o Watch Video Solution

59. Find the center and radius of the circle given by the equation

9
2m2+2y2+3m—|—4y—|—§=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_ISXFYXrnwML5
https://dl.doubtnut.com/l/_jCa2h8gb2Pas
https://dl.doubtnut.com/l/_dewleLTs1kGA
https://dl.doubtnut.com/l/_6uJf2tb3TrzO

60. If the line 2z — y + 1 = 0 touches the circle at the point (2, 5) and
the centre of the circle lies in the line z +y—9 = 0. Find the

equation of the circle.

o Watch Video Solution

61. Find the equation of the circle passing through (1,2) and which is

concentric with the circle % + y? + 11z — 5y + 3 = 0.

o Watch Video Solution

62. Find the equation of a circle whose centre is (2,-3) and radius 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_50zceD7ALWF6
https://dl.doubtnut.com/l/_juZMa3toMJAB
https://dl.doubtnut.com/l/_RiKt82CxmywN

63. If the equations of the two diameters of a circle are
x —y=2>5 and 2x + y = 4 and the radius of the circle is 5, find the

equation of the circle.

o Watch Video Solution

64.Find the equation of the circle which passes through two points on
the x-axis which are at distances 4 from the origin and whose radius is

5.

o Watch Video Solution

65. A circle of radius 6 units touches the coordinates axes in the first

quadrant. Find the equation of its image in the line mirror y = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_YgoFf1JQXWzH
https://dl.doubtnut.com/l/_pQeDThijA1Hs
https://dl.doubtnut.com/l/_JoqLfb9op7x4
https://dl.doubtnut.com/l/_hUKy3tljwUUY

66. Show that the equation of the circle which touches the coordinates
axes whose centre lies on the line

la:—l—my—l—n:Ois(l—l—m)2(x2—|—y2) + 2n(z 4+ y)(I +m) +n* = 0.

o Watch Video Solution

67. Find the equation of the circle which touches the coordinate axes

and whose centre lies on the line z — 2y = 3.

o Watch Video Solution

68. Find the equation of the circle with: centre (-2,3) and radius 4.

o Watch Video Solution

69. Find the equation of the circle with: centre (a,b) and radius

Va* 4 b


https://dl.doubtnut.com/l/_hUKy3tljwUUY
https://dl.doubtnut.com/l/_eyDJQONKrL9Y
https://dl.doubtnut.com/l/_3FuK3ZKyzlTP
https://dl.doubtnut.com/l/_LhB30FxcqIkH

o Watch Video Solution

70. Find the equation of the circle with: centre (0,-1) and radius 1.

o Watch Video Solution

71. Find the equation of the circle with: Center (a cos @, a sina) and

radius a-

o Watch Video Solution

72.Find the equation of the circle with: Centre (a, a) and radius v/2a .

o Watch Video Solution



https://dl.doubtnut.com/l/_LhB30FxcqIkH
https://dl.doubtnut.com/l/_zAIiQIUXqEoW
https://dl.doubtnut.com/l/_867eQxzv0UwF
https://dl.doubtnut.com/l/_sCpxDJSoW0EJ

73. Find the centre and radius of each of the following circle:

(z—1)°+y" =4

o Watch Video Solution

74. Find the centre and radius of each of the following circle:

(z+5)°+(@y+1)*=9

° Watch Video Solution

75. Find the centre and radius of each of the following circle:

22 +y* —dx+6y=>5

° Watch Video Solution



https://dl.doubtnut.com/l/_mxMhmvx5BFWZ
https://dl.doubtnut.com/l/_vYlN4lMJj9nb
https://dl.doubtnut.com/l/_MTzvaDN4fajy

76. Find the centre and radius of each of the following circle:

2+ —2z+2y—3=0

o Watch Video Solution

77. Find the equation of the circle whose centre is (1,2) and which

passes through the point (4,6).

° Watch Video Solution

78. Find the equation of the circle passing through the point of
intersection of the lines * 4+ 3y = 0and 2x — Ty = 0 and whose
centre is the point of intersection of the lines

r+y+1=0andx —2y+4=0.

o Watch Video Solution



https://dl.doubtnut.com/l/_3c46zzN0xzm9
https://dl.doubtnut.com/l/_scBYRv8CimjY
https://dl.doubtnut.com/l/_e5kmeeDkv9kW
https://dl.doubtnut.com/l/_9mypmOvh9puz

79. Find the equation of the circle whose centre lies on the positive
direction of y-axis at as distance 6 from the origin and whose radius is

4.

o Watch Video Solution

80. Find the equation of a circle: 1)Which touches both the axes at a
distance of 6 units from the origin. 2)Which touches x-axis at a distance
5 from the origin and radius 6 units 3)Which touches both the origin,

radius 17 and ordinate of the centre is -15.

o Watch Video Solution

81. If the -equations of two diameters of a circles are
x +y=6andzx + 2y = 4 and the radius is 10, find the equation of

the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_9mypmOvh9puz
https://dl.doubtnut.com/l/_OuVaxo4RCx7z
https://dl.doubtnut.com/l/_GTESp8ghsMRD

82. Find the equation of the circle which has its centre at the point (3,4)

and touches the straight line bx 4+ 12y — 1 = 0.

o Watch Video Solution

83. Find the equation of the circle which touches the coordinate axes

and whose centre lies on the line x-2y =3 .

o Watch Video Solution

84. A circle whose centre is the point of intersection of the lines
2x —3y+4=0and 3z + 4y — 5 = 0 passes through the origin.

Find its equation.

o Watch Video Solution



https://dl.doubtnut.com/l/_GTESp8ghsMRD
https://dl.doubtnut.com/l/_WFozxbDI2ahP
https://dl.doubtnut.com/l/_m7onksuS8ZdV
https://dl.doubtnut.com/l/_SaI4cQ9nj6qd
https://dl.doubtnut.com/l/_ngafPiLsTMLI

85. A circle of radius 4 units touches the coordinate axes in the first
quadrant. Find the equation of its images with respect to the line

mirrors x = 0and y = 0.

o Watch Video Solution

86. Find the equations of the circles touching y-axis at (0,3) and making

an intercept of 8 units on the x-axis.

o Watch Video Solution

87. Find the equations of the circles passing through two points on y-

axis at distance 3 from the origin and having radius 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_ngafPiLsTMLI
https://dl.doubtnut.com/l/_rbNRZ6efq1gy
https://dl.doubtnut.com/l/_dXE7C5LUM5BE

88. If the lines 3r —4y—7=0 and 2z —3y—5=0 are two
diameters of a circle of area 497 square units, the equation of the

circle is:

o Watch Video Solution

89. The circle 22 + y? — 2z — 2y + 1 = 0 is rolled along the positive
direction of x-axis and makes one complete roll. Find its equation in

new position.

o Watch Video Solution

90. One of the diameters of the circle circumscribing the rectangle
ABCD is 4y = x + y. If A and B are the points ( — 3,4) and (5, 4)

respectively, find the area of the rectangle and equation of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_YBagvuA0INIk
https://dl.doubtnut.com/l/_dFAEJB915wnn
https://dl.doubtnut.com/l/_1IAk8ojlLthH

91. Find the centre of a circle passing through (5,-8), (2,-9) and (2,1)

o Watch Video Solution

92. Find the area of equilateral triangle inscribed in a circle

22 +y* 4+ 29 +2fy+c=0

o Watch Video Solution

93. Find the coordinates of the centre and radius of each of the

following circle: 22 + y* + 6z — 8y — 24 = 0

o Watch Video Solution

94. Find the coordinates of the centre and radius of each of the

following circle: 222 + 2y? — 3z + 5y =7


https://dl.doubtnut.com/l/_1IAk8ojlLthH
https://dl.doubtnut.com/l/_P6Jqo1190rV2
https://dl.doubtnut.com/l/_1imL7WYvTF2V
https://dl.doubtnut.com/l/_ccEyiomAX7bh
https://dl.doubtnut.com/l/_dnCiRC8otAlt

° Watch Video Solution

95. Find the coordinates of the centre and radius of each of the

1
following circle: 2 (332 + yz) +xcosf +ysinf —4 =0

o Watch Video Solution

96. Find the coordinates of the centre and radius of each of the

following circle: 22 + y®> —az — by = 0

o Watch Video Solution

97. Find the equation of the circle passing through the point: (5,), (8, 1)

and (1,3)

o Watch Video Solution



https://dl.doubtnut.com/l/_dnCiRC8otAlt
https://dl.doubtnut.com/l/_M6xd6im4BWq4
https://dl.doubtnut.com/l/_7bFfk2eI1wSY
https://dl.doubtnut.com/l/_igUYdKaLo7A2
https://dl.doubtnut.com/l/_7xRcP0kpmqP8

98. Find the equation of the circle passing through the point: (1, 2),

(3, —4)and (5, — 6).

o Watch Video Solution

99. Find the equation of the circle passing through the point:

(5, — 8), (—2, 9and (2,1)

o Watch Video Solution

100. about to only mathematics

° Watch Video Solution

101. Find the equation of the circle which passes through the points (3,

-2), ( — 2, 0) and has its centre on the line 2z — y = 3.

| &~ o |


https://dl.doubtnut.com/l/_7xRcP0kpmqP8
https://dl.doubtnut.com/l/_LLLXd4lKYcPc
https://dl.doubtnut.com/l/_Dao9nAwNcz4P
https://dl.doubtnut.com/l/_nsSzQtkfeyu1

| @ Watch Video Solution |

102. Find the equation of the circle which passes through the points

(3,7), (5,5) and has its centre on the line x — 4y = 1.

° Watch Video Solution

103. Show that the points (3,-2), (1,0), (-1, -2) and (1,-4) are con-cyclic.

o Watch Video Solution

104. Show that the points A(5, 5), B(6,4), C( — 2,4) and D(7,1) all

lies on the circle. Find the centre, radius and equation of circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_nsSzQtkfeyu1
https://dl.doubtnut.com/l/_O3fgLXPfwqOo
https://dl.doubtnut.com/l/_8DdXodhCnwTF
https://dl.doubtnut.com/l/_Q78l2qT2ui7K

105. Find the equation of the circle which circumscribes the triangle

formed by theline: z+y+3=0, z —y+1=0andx =3

o Watch Video Solution

106. Find the equation of the circle which circumscribes the triangle
formed by the line:

2r+y—3=0,z+y—1=0and3z+2y—5=10

o Watch Video Solution

107. Prove that the centres of the three circles
(J;2+y2—4w—6y—12:0) , (a:2+y2—|—2m—|—4y—5:0) and

(:1:2 +y? — 10z — 16y + 7 = O) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_vsHr55gYrSRJ
https://dl.doubtnut.com/l/_EYzwuR5hlxgj
https://dl.doubtnut.com/l/_hijoC94fBGwP
https://dl.doubtnut.com/l/_np0Tmto3Vuvd

108. Find the equation of the circle which circumscribes the triangle

formed by theline: z4+y =2, 3x —4dy=6andx —y = 0.

o Watch Video Solution

109. Find the equation of the circle which circumscribes the triangle

formed by the line: y =z + 2, 3y = 42 and 2y = 3z

° Watch Video Solution

110. Find the equation of the circle which passes through the origin
and cuts off chords of lengths 4 and 6 on the positive side of the x-axis

and y-axis respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_np0Tmto3Vuvd
https://dl.doubtnut.com/l/_IVOyDCMFl09U
https://dl.doubtnut.com/l/_c2yBHaeY96JQ

11. Find the equation of the circle concentric with the circle

2

z? + y*> — 4z — 6y — 3 = 0 and which touches the y axis

o Watch Video Solution

112. If a circle passes through the point (0, 0), (a, 0)and(0, b) , then

find its center.

° Watch Video Solution

113. Find the equations of the circles drawn on the diagonals of the
rectangle as its diameter whose sides are

xr=5 = —2,y=3andy= — 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZFwrO3Wh6Khu
https://dl.doubtnut.com/l/_9oj7a9klINoU
https://dl.doubtnut.com/l/_g9TUFYMZGw4k

114. Find the equation of the circle, the end points of whose diameter

are (2,-3) and (-2,4). Find the centre and radius.

o Watch Video Solution

115. Find the equation of the circle the end points of whose diameters
are the centres of the circles z?+y®>+ 16z — 14y =1 and

w? +y® — 4z + 10y = 2

o Watch Video Solution

116. The sides of a square are x =6, =9, y = 3andy = 6. Find
the equation of a circle drawn on the diagonal of the square as its

diameter.

o Watch Video Solution



https://dl.doubtnut.com/l/_MsRSxpWin2fK
https://dl.doubtnut.com/l/_2cZf8oHBT1LN
https://dl.doubtnut.com/l/_ZyR42uc59zX6
https://dl.doubtnut.com/l/_zEa7pN8qxuM5

117. Find the equation of the circle circumscribing the rectangle whose

sidesarex — 3y =4, 3x +y =32, x — 3y = 14 and 3z + y = 62.

o Watch Video Solution

118. Find the equation of the circle passing through the origin and the

points where the line 3z 4 4y = 12 meets the axes of coordinates.

° Watch Video Solution

119. Find the equation of the circle which passes through the origin and

cuts off intercepts a and b respectively from x and y — azes.

° Watch Video Solution

120. Find the equation of the circle whose diameter is the line segment

joining (-4,3) and (12,-1). Find also the intercept made by it on y-axis.


https://dl.doubtnut.com/l/_zEa7pN8qxuM5
https://dl.doubtnut.com/l/_CKa8WDCneMkX
https://dl.doubtnut.com/l/_mxiXW3Qfkepj
https://dl.doubtnut.com/l/_z1laMjaJHfhD

o Watch Video Solution

121. The abscissa of the two points A and B are the roots of the
equation z? + 2az — b®> = 0 and their ordinates are the roots of the
equation z> + 2pz — ¢* = 0. Find the equation of the circle with AB

as diameter. Also, find its radius.

o Watch Video Solution

122. ABCD is a square in first quadrant whose side is a, taking
AB and AD as axes, prove that the equation to the circle

circumscribing the square is z2 + 3* = a(z + y).

o Watch Video Solution



https://dl.doubtnut.com/l/_z1laMjaJHfhD
https://dl.doubtnut.com/l/_7gwv5FYdLlpv
https://dl.doubtnut.com/l/_gr5WGhELjxrY

123.The line 2z — y + 6 = 0 meets the circle 22 + y?> — 2y — 9 = O at

A and B. Find the equation of the circle on AB as diameter.

o Watch Video Solution

124. Find the equation of the circle which circumscribes the triangle

formed by thelinesz = 0, y = 0O and lz + my = 1.

° Watch Video Solution

125. Write the length of the intercept made by the circle

m2+y2+2w—4y—5:0ony-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_0QcfUYbG7R8u
https://dl.doubtnut.com/l/_OPeBUz7UBSSr
https://dl.doubtnut.com/l/_6ggZOMV1koX9

126. Write the coordinates of the centre of the circle passing through

(0,0), (4,0) and (0,-6).

o Watch Video Solution

127. Write the area of the circle passing through (-2, 6) and having its

centre at (1,2).

° Watch Video Solution

128. If the abscissa and ordinates of two points Pand() are the roots of
the equations 22+ 2z —-b=0 and 22+ 2pz—¢*=0

respectively, then find the equation of the circle with PQ as diameter.

o Watch Video Solution



https://dl.doubtnut.com/l/_dkVyaAjPTgQE
https://dl.doubtnut.com/l/_irpRQU6boa3o
https://dl.doubtnut.com/l/_Eb0jGyP6TPDa

129. Write the equation of the wunit circle concentric with

2?4+ y* — 8z + 4y — 8 =0.

o Watch Video Solution

130. Find the number of integral values of A for which
2 +9y®> + Az + (1 — Ny + 5 =0 is the equation of a circle whose

radius does not exceed 5.

o Watch Video Solution

131. Write the equation of the circle passing through (3,4) and touching

y-axis at the origin.

o Watch Video Solution



https://dl.doubtnut.com/l/_RaQXSAwwn6qt
https://dl.doubtnut.com/l/_VimKifdYymjx
https://dl.doubtnut.com/l/_WUsLpnzps4V1

132. If the line y=ma does not intersect the circle
(z + 10)2 + (y + 10)2 = 180 then write the set of values of taken by

m.-

o Watch Video Solution

133. Write the coordinates of the center of the circle inscribed in the

square formed by thelinesz =2, x =6, y =5 and y = 9.

o Watch Video Solution

134. The equation z* + y% + 2z — 4y + 5 = 0 represents a. a point b.

a pair of straight lines c. a circle of non zero radius d. none of these

o Watch Video Solution



https://dl.doubtnut.com/l/_9LXMD0fzZXmI
https://dl.doubtnut.com/l/_wwuHYNXAgGmA
https://dl.doubtnut.com/l/_63POFq4CqgoD

135. If the equation (4a — 3)z® 4 ay® + 6z — 2y + 2 = O represents a

circle, then its centre is a. (3,-1) b. (3,1) c. (-3,1) d. none of these

o Watch Video Solution

136. The equation of the circle passing through the point (1,1) and
having two diameters along the pair of lines
22—y -2 +4y—3=0 is azx’+y -2z —4y+4=0 b
2?4y 422 4+4y—4=0c 2> +y*— 2z + 4y + 4 =0d. none of

these

° Watch Video Solution

137. If the centroid of an equilateral triangle is (1,]) and its one vertex is

(-1, 2), then the equation of its circumcircle is: is
2 2 _ 2 2 _

x+y " —2x—-2y—3=0 b, z+y"+2z-2y—-3=0 c

z? + y%> + 2z + 2y — 3 = 0d. none of these


https://dl.doubtnut.com/l/_wxTGN3XkvBkm
https://dl.doubtnut.com/l/_tMcCatclfOKE
https://dl.doubtnut.com/l/_satMJ34LXlnM

o Watch Video Solution

138. The equation of the incircle of the triangle formed by the axes and

the line 4x+3y=6 is

° Watch Video Solution

139. The equation of a circle with radius 5 and touching both the
coordinate axes is z? + y2 + 10z £ 10y +5=0
22 +y?+10c + 10y =0 2?2 +y?+ 10z + 10y + 25 =0

z? +y? + 10z + 10y + 51 =0

o Watch Video Solution

140. The equation of the circle passing through the origin which cuts of

intercept of length 6 and 8 from the axes is a.


https://dl.doubtnut.com/l/_satMJ34LXlnM
https://dl.doubtnut.com/l/_MtweWei5gWMr
https://dl.doubtnut.com/l/_wneljvoYW6M6
https://dl.doubtnut.com/l/_vj9qCuotEUwQ

22 +y* - 122 —16y=0 b. 22+ +122+16y=0 c

22 +y*+6x+8y =0dz®+y>—6x—8 =0

o Watch Video Solution

141. The area of an equilateral triangle inscribed in the circle

225./3
6

22 +y* —6x—8 —25=0is a. b. 257 c. 50w — 100 d. none

of these

o Watch Video Solution

142. If the circles z°> + y? = a and > + y*> — 6z — 8y + 9 = 0 touch

externallythena = a.1b. —1c.21d.16

o Watch Video Solution



https://dl.doubtnut.com/l/_vj9qCuotEUwQ
https://dl.doubtnut.com/l/_g2iHea52HiZ1
https://dl.doubtnut.com/l/_XVs7rcnUmFZA

143.If (x, 3)and (3, 5) are the extremities of a diameter of a circle with
centre at (2, y) then the values of z and yarea.(3,) b.z = 4,y = 1c.

x = 8,y = 2d.none of these

o Watch Video Solution

144. Equation of the diameter of the circle 22 +y? — 2 +4y=0
which passes through the origin is ax+2y=0 b.xx-2y=0 c. 2z + y = 0d.

2x-y=0.

o Watch Video Solution

145. Equation of the circle through origin which cuts intercepts of
length aandb on axes is a z+y>=ax+by=0 b.

2 +y> —ax — by = 0c.z? + y* + bz + ay = 0d. none of these

o Watch Video Solution



https://dl.doubtnut.com/l/_WdYSqcqDvbOY
https://dl.doubtnut.com/l/_YbX5iNpaOyA2
https://dl.doubtnut.com/l/_Yj4tsVO8Dm0A



https://dl.doubtnut.com/l/_Yj4tsVO8Dm0A

